June 1999 Disproportionate Share Payments

Chapter 1187.111 Disproportionate Share Payments for full year cost reports ending June 30, 1999. Accepted as of May 5, 2000.

Name	Reported Available Days	Reported Actual Days	Jul/Jun 1999 Paid Claims	Group	Per Diem	Total Payment
ABINGTON CREST NURSING AND REHAB CTR	29,200	26,586	20,144			\$0.00
ALLEGHENY UNIV MED CTR-CANONSBURG SNU	6,570	5,110	57			\$0.00
ALLIED SERVICES SKILLED NURSING CENTER	137,240	134,306	105,462			\$0.00
AMBLER REST CENTER	36,500	30,097	16,245			\$0.00
ARBUTUS PARK MANOR	52,195	49,621	24,451			\$0.00
ARTMAN LUTHERAN HOME	22,265	20,893	4,943			\$0.00
ASHTON HALL NURSING AND REHAB CENTER	54,020	42,229	28,501			\$0.00
AUDUBON VILLA	15,330	14,707	12,078	Е	\$0.33	\$3,985.74
AUTUMN GROVE CARE CENTER	37,595	35,300	25,283			\$0.00
BALA NURSING AND RETIREMENT CENTER	65,700	61,728	46,997			\$0.00
BALANCED CARE BLOOMSBURG	24,090	23,529	12,602			\$0.00
BALANCED CARE, KINGSTON	23,725	22,124	10,647			\$0.00
BALANCED CARE, MID VALLEY	13,870	13,727	5,590			\$0.00
BALDOCK HEALTH CARE CENTER	43,800	38,101	25,200			\$0.00
BALDWIN HEALTH CENTER, INC	73,000	54,505	33,606			\$0.00
BALL PAVILION, THE	31,025	29,468	18,640			\$0.00
BAPTIST HOME OF PHILADELPHIA, THE	75,190	70,579	38,363			\$0.00
BAPTIST HOMES NURSING CENTER	45,990	44,552	21,020			\$0.00
BARNES-KASSON COUNTY HOSPITAL SNF	21,170	20,385	17,035	D	\$0.66	\$11,243.10
BEAR CREEK HEALTH CARE CENTER INC	11,680	10,472	9,235	в	\$1.85	\$17,084.75
BEAVER VALLEY NURSING AND REHAB CENTER	43,800	41,197	26,955			\$0.00
BELAIR HEALTH AND REHABILITATION CENTER	37,595	34,787	21,320			\$0.00
BERKSHIRE CENTER	47,450	45,174	25,875			\$0.00
BISHOP NURSING HOME, THE	59,860	57,969	51,326	В	\$1.85	\$94,953.10
BOULEVARD NURSING HOME	49,275	43,948	38,006			\$0.00
BRADFORD NURSING PAVILION	34,675	30,379	21,045			\$0.00
BRANDYWINE HALL	65,700	61,293	36,524			\$0.00
BRETHREN HOME COMMUNITY, THE	108,770	100,057	43,378			\$0.00
BRETHREN VILLAGE	77,380	70,129	33,613			\$0.00
BRIARLEAF NURSING AND CONVAL CENTER	64,970	58,387	48,275	Е	\$0.33	\$15,930.75
BROAD MOUNTAIN NURSING AND REHAB CENTER	47,085	42,407	33,265			\$0.00
BROOKMONT HEALTH CARE CENTER INC	43,435	41,104	23,812			\$0.00
BUCHANNAN COMMONS	39,785	32,980	21,505			\$0.00
BUCKINGHAM VALLEY REHAB AND NURSING CTR	47,450	44,202	29,121			\$0.00
BUCKTAIL MEDICAL CENTER	16,425	15,948	13,003	Е	\$0.33	\$4,290.99
BUTLER VALLEY MANOR	13,505	12,812	8,223			\$0.00
CALVARY FELLOWSHIP HOMES, INC	16,425	14,745	5,048			\$0.00
CARE PAVILION OF WALNUT PARK, INC	144,540	133,104	119,185	А	\$2.73	\$325,375.05

CARING PLACE, THE	36,500	35,543	21,366			\$0.00
CATHEDRAL VILLAGE	54,020	51,786	9,809			\$0.00
CHARLES COLE MEMORIAL HOSPITAL ECF	20,075	18,940	14,081			\$0.00
CHARLES M. MORRIS NURSING AND REHAB CTR	71,527	58,474	45,231			\$0.00
CHATHAM ACRES, INC	44,165	34,126	26,840			\$0.00
CHELTENHAM NURSING AND REHAB CENTER	93,075	86,171	76,850	В	\$1.85	\$142,172.50
CHELTENHAM YORK ROAD NSG & REHAB CENTER	87,600	79,014	71,491	А	\$2.73	\$195,170.43
CHESTER CARE CENTER	108,040	94,300	83,540			\$0.00
CHICORA MEDICAL CENTER	41,610	32,842	13,246			\$0.00
CHRIST'S HOME RETIREMENT CENTER	8,760	8,543	5,185			\$0.00
CHRIST THE KING MANOR	58,400	51,893	34,685			\$0.00
CHURCH OF THE BRETHREN HOME	48,910	45,495	31,867			\$0.00
CLIVEDEN CONVALESCENT CENTER	65,700	61,368	54,145	В	\$1.85	\$100,168.25
CONCORDIA LUTHERAN MINISTRIES	48,040	46,472	21,208			\$0.00
CONNER-WILLIAMS NURSING HOME	18,980	16,260	11,701			\$0.00
CONTINUING CARE NURSING AND REHAB CORP	20,075	18,059	15,303	D	\$0.66	\$10,099.98
COUNTRYSIDE CONVAL HOME LTD PARTNERSHIP	17,520	15,475	7,639			\$0.00
COVENTRY MANOR NURSING HOME	14,965	13,280	9,001			\$0.00
CRESTVIEW CENTER	65,700	60,871	51,133	D	\$0.66	\$33,747.78
CUMBERLAND CROSSINGS	21,535	21,001	6,057			\$0.00
DAR WAY NURSING HOME, INC	25,550	24,242	17,428			\$0.00
DAVIS MANOR	36,730	33,225	23,510			\$0.00
DENVER NURSING HOME	29,930	28,586	13,944			\$0.00
DOCK TERRACE	26,280	25,500	7,281			\$0.00
DONAHOE MANOR	26,280	25,785	15,336			\$0.00
DRESHER HILL NURSING CENTER	43,070	41,475	28,627			\$0.00
DUBOIS NURSING HOME	65,700	45,576	33,523			\$0.00
EASTON NURSING CENTER	66,065	59,461	49,015	Е	\$0.33	\$16,174.95
EDGEHILL NURSING AND REHAB CENTER	21,900	20,942	15,070			\$0.00
EDGEWOOD NURSING CENTER	39,055	30,007	21,754			\$0.00
ELDERCREST NURSING CENTER	17,520	14,003	7,400			\$0.00
ELK HAVEN NURSING HOME	43,800	38,730	28,111			\$0.00
ELKINS CREST HEALTH AND REHAB CENTER	54,750	50,633	29,885			\$0.00
ELLEN MEMORIAL HEALTH CARE CENTER	53,290	49,132	20,890			\$0.00
ELM TERRACE GARDENS	23,725	22,829	6,019			\$0.00
ELMIRA JEFFRIES MEMORIAL HOME MGR	65,700	62,519	56,691	А	\$2.73	\$154,766.43
FAIR WINDS MANOR	24,090	20,252	10,716			\$0.00
FAIRMOUNT HOMES	43,800	41,661	17,283			\$0.00
FAIRVIEW CARE CENTER OF BETHLEHEM PIKE	65,700	57,019	50,986			\$0.00
FAIRVIEW CARE CENTER OF PAPERMILL ROAD	47,085	45,112	40,320	в	\$1.85	\$74,592.00
FELLOWSHIP MANOR	44,165	41,923	18,647			\$0.00
FORBES NURSING CENTER	48,910	43,316	25,841			\$0.00
FOREST CITY NURSING CENTER	51,100	48,427	32,872			\$0.00
FOREST VIEW	31,390	28,954	11,880			\$0.00
FRIENDLY NURSING HOME - PITMAN	17,520	16,319	14,793	А	\$2.73	\$40,384.89
FULTON COUNTY MEDICAL CENTER LTCU	20,805	20,497	15,924		+=9	\$0.00
	_0,000	_0,101	,			\$0.00

GEORGE L HARRISON HOUSE OF EPISCOPAL HSP	12,775	11,808	10,948	A	\$2.73	\$29,888.04
GERMANTOWN HOME	65,700	60,260	46,858			\$0.00
GNADEN HUETTEN NURSING AND CONVAL CENTER	33,215	31,238	19,421			\$0.00
GOLD STAR NURSING HOME	37,230	28,915	24,601			\$0.00
GOLDEN HILL NURSING HOME, INC	74,460	64,336	49,859			\$0.00
GOLDEN SLIPPER CLUB UPTOWN HOME FOR AGED	87,600	82,172	52,597			\$0.00
GOLFVIEW MANOR NURSING HOME	24,455	22,861	15,965			\$0.00
GOOD SAMARITAN NSG CARE CTR-JOHNSTOWN	26,645	19,937	14,141			\$0.00
GOOD SHEPHERD HOME LTC FACILITY, INC	49,275	49,050	47,488	А	\$2.73	\$129,642.24
GRANDVIEW HEALTH HOMES, INC	64,240	48,782	37,395			\$0.00
GREEN ACRES - IVY HILL NURSING HOME	55,115	50,768	39,273			\$0.00
GREEN HOME, INC, THE	44,530	39,539	24,000			\$0.00
GREEN RIDGE NURSING HOME	23,360	20,890	16,226			\$0.00
GREENLEAF NURSING HOME AND CONVAL CENTER	47,450	40,873	34,672			\$0.00
GROVE MANOR	21,535	18,259	7,477			\$0.00
GUY AND MARY FELT MANOR, INC	14,600	10,930	7,529			\$0.00
GWYNEDD SQUARE CTR FOR NSG & CONVAL CARE	66,065	58,558	35,222			\$0.00
HAMILTON ARMS CENTER	43,800	38,730	28,645			\$0.00
HAMPTON HOUSE	37,960	35,234	27,500			\$0.00
HAVENCREST NURSING CENTER	17,520	15,857	5,832			\$0.00
HAVERFORD NURSING & REHABILITATION CTR	40,150	37,237	15,333			\$0.00
HEARTLAND HEALTH CARE CENTER	81,760	72,560	59,311			\$0.00
HERITAGE HOUSE	18,250	17,276	7,598			\$0.00
HERITAGE NURSING HOME, INC	52,925	52,007	1,721			\$0.00
HERITAGE SHADYSIDE, THE	52,925	48,178	17,506			\$0.00
HIGHLAND CENTER, GENESIS ELDERCARE NTWRK	35,405	32,627	16,503			\$0.00
HIGHLAND HALL CARE CENTER	30,295	25,698	23,036			\$0.00
HIGHLAND VIEW	21,900	19,141	12,986			\$0.00
HILLCREST CENTER	65,700	60,350	49,362	Е	\$0.33	\$16,289.46
HOLIDAY MANOR	56,210	50,392	44,438	В	\$1.85	\$82,210.30
HOMELAND CENTER	26,280	23,115	6,545			\$0.00
HOMESTEAD CENTER	73,000	64,658	44,883			\$0.00
HOMESTEAD VILLAGE, INC	21,900	20,085	5,883			\$0.00
HORIZON SENIOR CARE	43,070	31,660	25,081			\$0.00
HUMBERT LANE HEALTH CARE CENTER	43,800	38,521	25,557			\$0.00
HUNTINGDON MANOR	33,945	25,980	20,663			\$0.00
IHS GREENERY OF CANONSBURG	51,100	43,909	24,361			\$0.00
IMMACULATE MARY HOME	108,040	103,103	65,002			\$0.00
INDIAN CREEK NURSING CENTER	43,800	35,640	25,300			\$0.00
INGLIS HOUSE	108,405	105,076	95,554	А	\$2.73	\$260,862.42
JEFFERSON HILLS MANOR	30,295	25,284	14,927			\$0.00
JEFFERSON MANOR HEALTH CENTER	79,570	62,818	48,143			\$0.00
JEWISH HOME OF GREATER HARRISBURG	51,100	42,757	20,625			\$0.00
KEARSLEY LONG TERM CARE CENTER	30,660	29,744	26,290	В	\$1.85	\$48,636.50

KINKORA PYTHIAN HOME	21,900	20,579	9,999			\$0.00
KRAMM HEALTHCARE CENTER, INC	50,370	46,204	32,967			\$0.00
KRAMM NURSING HOME, INC	45,625	36,863	25,916			\$0.00
KUTZTOWN MANOR	51,100	47,140	31,747			\$0.00
LAFAYETTE REDEEMER, THE	43,800	43,331	19,845			\$0.00
LAKESIDE NURSING CENTER	11,315	10,312	6,276			\$0.00
LANDIS HOMES	38,904	35,912	13,199			\$0.00
LANGHORNE GARDENS REHAB AND NURSING CTR	43,800	40,710	25,143			\$0.00
LAUREL HILL, INC	46,355	35,214	33,113			\$0.00
LAUREL MANOR	21,535	19,291	10,749			\$0.00
LAUREL RIDGE CENTER	22,265	20,865	15,242			\$0.00
LAUREL VIEW VILLAGE	21,900	20,251	9,125			\$0.00
LEHIGH CENTER	46,720	44,325	24,253			\$0.00
LEMINGTON CENTER	65,700	48,202	38,908			\$0.00
LIBERTY NURSING AND REHAB CENTER	53,290	46,196	23,344			\$0.00
LIFEQUEST NURSING CENTER	51,100	46,341	26,234			\$0.00
LITTLE FLOWER MANOR	46,355	44,820	23,379			\$0.00
LOCK HAVEN HOSPITAL E.C.U.	43,800	40,500	30,192			\$0.00
LUTHERAN COMM AT TELFORD HLTHCRE CTR	27,375	26,590	8,091			\$0.00
MAIN LINE NURSING AND REHAB CENTER	67,160	63,699	43,944			\$0.00
MANCHESTER HOUSE NURSING AND CONV CENTER	105,850	96,314	85,832	В	\$1.85	\$158,789.20
MANORCARE HEALTH SVCS-KINGSTON COURT	51,465	44,605	19,630			\$0.00
MANORCARE HEALTH SVCS-MERCY FITZGERALD	43,800	39,765	16,317			\$0.00
MANORCARE HEALTH SVCS-YORK NORTH	58,765	51,562	27,338			\$0.00
MANORCARE HEALTH SVCS-YORK SOUTH	48,180	43,936	21,401			\$0.00
MAPLE FARM NURSING CENTER	44,895	36,909	15,140			\$0.00
MAPLEWOOD MANOR CONVALESCENT CENTER	65,700	57,914	50,775			\$0.00
MARGARET E. MOUL HOME	18,980	18,604	18,879	А	\$2.73	\$51,539.67
MARIAN MANOR CORPORATION	59,572	55,936	28,946			\$0.00
MARINER HEALTH CARE OF NORTH HILLS	20,075	16,213	8,308			\$0.00
MARINER HEALTH CARE OF WEST HILLS	54,750	52,533	34,204			\$0.00
MARWOOD REST HOME, INC	31,755	30,232	26,791	В	\$1.85	\$49,563.35
MARY ELLEN CONVALESCENT HOME, INC	18,775	16,529	9,773			\$0.00
MAYO CENTER	87,965	81,662	67,132	Е	\$0.33	\$22,153.56
MCMURRAY HILLS MANOR	41,975	37,528	18,704			\$0.00
MEADOW VIEW NURSING CENTER	65,700	52,154	43,091			\$0.00
MEADOWCREST NURSING CENTER	18,250	16,001	9,741			\$0.00
MEADOWS NURSING CENTER	47,450	45,031	30,666			\$0.00
MEDICAL CENTER, BEAVER, PA, THE	13,505	10,794	66			\$0.00
MEMORIAL HOSPITAL INC SNU	16,060	16,009	10,726			\$0.00
MENNONITE HOME, THE	85,745	73,536	21,192			\$0.00
MERCY DOUGLASS HUMAN SERVICES CENTER	63,551	57,297	48,206	D	\$0.66	\$31,815.96
MESSIAH VILLAGE	70,810	62,531	23,841			\$0.00
METHODIST HOSPITAL NURSING CENTER	65,700	61,300	42,303			\$0.00
MILLCREEK MANOR	12,045	9,323	7,882			\$0.00

MILLVILLE HEALTH CENTER	40,150	34,389	28,774			\$0.00
MINERS MEMORIAL GERIATRIC CENTER	19,345	15,969	12,185			\$0.00
MOSES TAYLOR HOSPITAL S.N.F.	11,680	10,420	2,460			\$0.00
MOSSER NURSING HOME	21,900	21,031	7,331			\$0.00
MOUNT HOPE DUNKARD BRETHREN CHURCH HOME	21,535	19,121	10,264			\$0.00
MOUNT MACRINA MANOR NURSING HOME	51,465	43,807	21,628			\$0.00
MOUNTAIN LAUREL NRC	87,600	76,990	57,990			\$0.00
MOUNTAIN REST NURSING HOME	39,420	36,650	31,578	С	\$1.09	\$34,420.02
MOUNTAIN VIEW CARE CENTER	65,700	62,955	39,520			\$0.00
MUHLENBERG REHABILITATION CARE CENTER	43,800	25,026	4,798			\$0.00
MUNCY VALLEY HOSPITAL SNU	50,115	46,541	30,024			\$0.00
NAAMANS CREEK COUNTRY MANOR	32,850	29,723	19,883			\$0.00
NORTHWOOD NURSING AND CONVALESCENT CTR	54,020	46,968	39,342			\$0.00
OAK HILL NURSING AND REHAB CENTER	17,520	14,898	7,475			\$0.00
ORANGEVILLE NURSING AND REHAB CENTER	43,800	37,019	26,639			\$0.00
ORCHARD MANOR, INC	44,165	37,761	26,722			\$0.00
ORWIGSBURG CENTER	47,450	43,637	32,531			\$0.00
OSPREY RIDGE HEALTHCARE AND REHAB CENTER	29,565	27,611	18,285			\$0.00
PALMYRA NURSING HOME	14,235	12,839	8,722			\$0.00
PARK PLEASANT HEALTH CARE FACILITY	44,895	42,407	36,040	D	\$0.66	\$23,786.40
PASSAVANT RETIREMENT AND HEALTH CENTER	57,305	54,139	24,975			\$0.00
PEMBROOKE HEALTH AND REHAB RESIDENCE	87,600	78,268	68,842			\$0.00
PENN CENTER FOR REHABILITATION AND CARE	45,260	42,590	33,592			\$0.00
PENNSYLVANIA MEMORIAL HOME	39,420	33,160	22,833			\$0.00
PETER BECKER COMMUNITY	34,310	32,034	13,859			\$0.00
PHOEBE BERKS HEALTH CARE CENTER, INC	43,800	42,339	13,774			\$0.00
PHOEBE HOME, INC	144,175	140,697	61,708			\$0.00
PICKERING MANOR HOME	17,155	15,915	6,239			\$0.00
PINE RUN HEALTH CENTER	67,890	63,540	31,373			\$0.00
PINECREST MANOR	50,370	47,228	31,133			\$0.00
PINEY MOUNTAIN HOME	37,057	26,344	21,043			\$0.00
PINNACLE HEALTH ECF	16,060	14,582	10,469			\$0.00
PINNACLE HEALTH ECF HB	16,060	11,867	945			\$0.00
PINNACLE HEALTH SNU - SEIDLE	12,775	11,936	7,121			\$0.00
PRAXIS NURSING HOME	41,975	38,224	26,504			\$0.00
PROSPECT PARK HEALTH AND REHAB RESIDENCE	65,700	61,095	50,586	Е	\$0.33	\$16,693.38
QUARRYVILLE PRESBYTERIAN HOME	57,670	45,940	20,331			\$0.00
REDSTONE HIGHLANDS HEALTH CARE CENTER	28,105	26,062	6,356			\$0.00
REGENCY HALL NURSING HOME, INC	52,195	48,751	20,025			\$0.00
REGINA COMMUNITY NURSING CENTER	44,165	43,255	30,417			\$0.00
REST HAVEN-YORK	60,955	55,319	23,701			\$0.00
RICHBORO REHAB AND NURSING CENTER	29,930	27,803	14,819			\$0.00
RIDGE CREST NURSING AND REHAB CENTER	53,290	47,130	35,578			\$0.00
RITTENHOUSE CARE CENTER	56,940	40,624	37,113			\$0.00
RITTENHOUSE PINE CENTER	43,800	36,605	27,259			\$0.00

ROCKHILL MENNONITE COMMUNITY	32,850	30,883	10,901			\$0.00
ROLLING HILLS MANOR	21,900	18,251	15,478			\$0.00
ROLLING MEADOWS	44,165	41,828	34,301	Е	\$0.33	\$11,319.33
ROSE VIEW CENTER	44,530	42,921	17,243			\$0.00
SACRED HEART MANOR	62,415	61,483	37,616			\$0.00
SAINT ANNE'S HOME	44,165	41,852	19,812			\$0.00
SAINT ANNE HOME	45,625	45,070	29,042			\$0.00
SAINT BARNABAS, INC	62,780	58,444	43,922			\$0.00
SAINT FRANCIS COUNTRY HOUSE	99,645	93,380	58,810			\$0.00
SAINT FRANCIS HOSPITAL OF NEW CASTLE SNC	16,425	13,752	5,251			\$0.00
SAINT FRANCIS NURSING CENTER, EAST	54,750	45,202	34,576			\$0.00
SAINT IGNATIUS NURSING HOME	64,240	59,105	49,194	Е	\$0.33	\$16,234.02
SAINT JOHN LUTHERAN CARE CENTER	113,150	84,621	55,350			\$0.00
SAINT JOHN NEUMANN NURSING HOME	82,490	78,676	46,582			\$0.00
SAINT JOSEPH'S MANOR	94,543	71,251	35,501			\$0.00
SAINT JOSEPH HOME FOR THE AGED	13,870	13,261	7,765			\$0.00
SAINT JOSEPH VILLA	39,420	35,942	14,008			\$0.00
SAINT MARTHA MANOR	43,800	42,536	15,394			\$0.00
SAINT MARY'S MANOR	43,800	41,743	21,045			\$0.00
SANATOGA CENTER	47,450	40,365	20,931			\$0.00
SARAH A REED RETIREMENT CENTER, THE	38,690	36,274	15,710			\$0.00
SAUNDERS HOUSE	65,700	57,689	19,386			\$0.00
SAYRE HOUSE, INC	18,250	17,971	7,120			\$0.00
SCHUYLKILL CENTER	69,350	65,796	40,472			\$0.00
SHADYSIDE NURSING AND REHAB CENTER	54,750	47,178	37,058			\$0.00
SHERWOOD OAKS	21,900	16,479	337			\$0.00
SIEMONS' LAKEVIEW MANOR ESTATE	43,800	38,616	29,523			\$0.00
SILVER LAKE CENTER	63,510	60,119	47,912	F	\$0.23	\$11,019.76
SILVER STREAM CENTER	43,800	38,721	34,935			\$0.00
SKY VUE TERRACE	36,500	30,632	25,417			\$0.00
SLATE BELT NURSING AND REHAB CENTER	45,990	44,912	24,103			\$0.00
SOMERSET HOSPITAL CENTER FOR HEALTH	6,570	4,836	159			\$0.00
SOUDERTON MENNONITE HOMES	22,265	21,628	8,411			\$0.00
SOUTH FAYETTE NURSING CENTER	28,105	17,003	15,488			\$0.00
SOUTHWESTERN NURSING CENTER	43,070	38,887	22,467			\$0.00
SPRUCE MANOR NURSING AND REHAB CENTER	73,000	66,692	49,783			\$0.00
STAPELEY IN GERMANTOWN	43,800	42,464	33,621			\$0.00
STATESMAN HEALTH AND REHAB CENTER	36,865	33,849	23,408			\$0.00
STEPHEN SMITH HOME FOR THE AGED	64,312	58,649	51,669	В	\$1.85	\$95,587.65
SUGAR CREEK REST	41,610	35,092	18,299			\$0.00
SUNBURY COMMUNITY HOSPITAL SNF	10,585	8,549	4,557			\$0.00
SUSQUEHANNA CENTER	65,700	45,924	36,133			\$0.00
SYCAMORE CREEK NURSING CENTER	43,800	41,793	29,299			\$0.00
TANDEM HEALTH CARE OF CHESWICK	46,720	30,830	21,715			\$0.00
TAYLOR NURSING AND REHAB CENTER	58,765	57,212	46,762	Е	\$0.33	\$15,431.46
TEL HAI RETIREMENT COMMUNITY	50,735	48,955	15,433			\$0.00
THAELER HEALTH CARE CENTER	22,265	21,139	3,755			\$0.00
TREMONT HEALTH AND REHABILITATION	65,700	59,714	45,656			\$0.00

CENTER						
TUCKER HOUSE	65,700	61,081	54,282	в	\$1.85	\$100,421.70
TWIN OAKS NURSING HOME	19,345	18,395	6,735			\$0.00
TWINBROOK MEDICAL CENTER	45,260	42,719	29,840			\$0.00
VALENCIA WOODS NURSING CENTER	39,287	37,483	29,823	F	\$0.23	\$6,859.29
VALLEY MANOR NURSING AND REHAB CENTER	65,700	62,013	50,767	Е	\$0.33	\$16,753.11
VILLA DEMARILLAC NURSING HOME, INC	18,980	18,551	8,285			\$0.00
VILLA SAINT JOSEPH OF BADEN INC.	43,800	40,119	22,213			\$0.00
VINCENTIAN HOME	80,545	75,824	31,379			\$0.00
WALLINGFORD NURSING AND REHAB CENTER	75,555	71,876	43,373			\$0.00
WASHINGTON HOSP TRANSITIONAL CARE UNIT	6,205	5,245	N/A			\$0.00
WAYNE CENTER	43,070	39,190	25,196			\$0.00
WAYNE WOODLANDS MANOR	44,165	38,343	23,613			\$0.00
WEST HAVEN NURSING HOME	64,605	51,031	29,282			\$0.00
WEXFORD HOUSE	75,190	54,537	39,580			\$0.00
WILLIS NURSING CENTER	27,010	24,373	16,319			\$0.00
WOODLAND CENTER FOR NURSING	47,450	32,126	23,003			\$0.00
WYNCOTE CHURCH HOME	21,170	19,069	11,661			\$0.00
ZENDT HOME, THE	15,695	14,573	13,385	А	\$2.73	\$36,541.05
ZERBE SISTERS NURSING CENTER, INC.	31,755	30,054	13,279			\$0.00

Last Modified: 08/01/2001